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1) M 32 1SO 30460] =3tct,
A 7|1FE 98 UE 084 kg/L, & E= 30%, CH7|2F 100 kPa, S &7 & 25 °C
3) A 7hE =2H 1= 1000m, S 37| 2= 30°C OI‘}OM =3 273 1S, 0| O|40AM£ 1= 300m &&A| OHCH 3%,
d2|0 52 37| 2% 11°C A45A| OICF 2% X =33 Z2E.
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Bore / Stroke (mm) 150 x 185 HY 212 (L) 39.2
HE BAFA|AHE J| A A dE HE 57| gHA 27| & 37| HZ7]
=H| 15:1 7| HiE 7|1& EU Stage |l
X4 (L x W x H) (mm) 2,524 x 1,312 x 1,731 UE B (kg) 3,495
A A7) (°CA) 21 - 22 BTDC
s2t01g 14 SAE NO.0/ 18 7|0f ot =~ 194
20| 2ek AAL "= 10/10
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Z ask AL N 22.5 /225
518 7| 2% (°Q) -10 ~ 50 AHE HBH D (m) 2,000
H7HHE 22 (mm) (87| ¥H :0.3+0.03) / (H]7| ®¥E : 0.4+0.03)
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50HZ 60HZ 50HZ 60HZ 50HZ 60HZ
223} 3| ™4 (rpm) 700 - 750 MHEHE SHA 2T (rpm) 1725 2070
@ OAE £5 (m/s) 9.25 111 BMEP (MPa) 2.245 2.364
ORE OF (kw) Wzt A A O (kw) 31 45
g2ol2 =3 (kw) HE 2H|E (g/kW.h) g 422 (L/h)
110% 1210 1,420 198.5 201.5 285.9 340.6
100% 1100 1,290 196.5 198.4 257.3 304.7
90% 990 1,161 1954 1974 2303 272.8
80% 880 1,032 193.8 195.8 203.0 240.5
70% 770 903 193.2 195.2 1771 209.8
60% 660 774 196.1 198.1 154.1 182.5
50% 550 645 197.3 199.3 129.2 153.0
40% 440 516 202.9 213.6 106.3 131.2
30% 330 387 210.8 2219 82.8 102.2
20% 220 258 238.2 250.7 62.4 77.0
10% 110 129 288.7 303.9 37.8 46.7
*HlEs He 23 (Brake Mean Effective Pressure) : BMEP
* 08 AH|E (Specific Fuel Consumption) : SFC
27| S 50HZ 60HZ
o7 g7 2zt i)
sol = e 250358 2k A
SBSIERIS (0 e xue w25 AT <
Mt nzof ggg &)
M LHE <3
371 a7 2 M (kPa)
met gl FHAa He <5
g4 9 5,639 7,449
A 37| /2 (kg/h)
Hld =8 6,066 8,013
&7 A7) 2 (%) 299.5%
Y 37189 =8 A4 HF (mm) 160
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20| 2 ZHE (kgem2) 7.18
JWAE B THE (kgem2) 4.52
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